FERBEHAR Ca—rRATNHER(FM6FA ~)

Eify . [
s 1 iR EXE1 EXE2 | ENEE | ENEE2 | ENEES | ENEEL | ENEES
1 ENEEA T ERANE ZRE-EXBEE 4,510 5,610 6,030 6,720 7,450 8,150 8,840
2. —ERBHEAHME I 220 220 220 220 220 220 220
3. RMBEREME 130 130 130 130 130
4. HeEAIFRARIINE 120 120 120 120 120 120 120
HJ—EXFIRHEE ZRE-EXBEE 4,850 5,950 6,500 7,190 7,920 8,620 9,310
5 NMEBEELEHNEMRE 14% ZRE-EXBEE 679 833 910 1007 1109 1207 1303
H—EXFIRHEE ZRE-ERBEE 5,529 6,783 7,410 8,197 9,029 9,827 10,613
H—EXIZRSBE2EEBED) (A) ZIRE-ERBEE 552 678 741 819 902 982 1,061
ZREFE R 0 0 0 0 0 0 0
% IR = 5B 2R B - 5B S 430 430 430 430 430 430 430
ZIREARRS 855 855 855 855 855 855 855
o st [ © R BME =1 ERRE 380 380 380 380 380 380 380
RERDIRISEARAE fE R BME =SB 2ER [ 480 480 480 480 480 480 480
HERBEEHEIERRED 880 880 880 880 880 880 880
HERBEMEEHE LMD 880 880 880 880 880 880 880
€ S BY {8 = S AEX RS 1,171 1,171 1,171 1,171 1,171 1,171 1,171
EEE 300 300 300 300 300 300 300
2B S 600 600 600 600 600 600 600
BEICRSB2HIBEE(C) FIRED 1,000 1,000 1,000 1,000 1,000 1,000 1,000
FIRED 1,300 1,300 1,300 1,300 1,300 1,300 1,300
EE 1,445 1,445 1,445 1,445 1,445 1,445 1,445
ZIRE (B1ER) 852 978 1,041 1,119 1,202 1,282 1,361
HEREMEZE (B1ERFE) 1,232 1,358 1,421 1,499 1,582 1,662 1,741
ZIRE (F2ER) 1,582 1,708 1,771 1,849 1,932 2,012 2,091
1€ BB = (B 2B F) 1,632 1,758 1,821 1,899 1,982 2,062 2,141
BT &EAEH (AB)+(C) _ gﬁ?(%fﬁﬁﬂ%@) 1,982 2,108 2,171 2,249 2,332 2,412 2,491
HEREMEE (FEIEERED) 2,432 2,558 2,621 2,699 2,782 2,862 2,941
ZRE (E3EEMREQ) 2,282 2,408 2471 2,549 2,632 2,712 2,791
HE R EE = (FEIEERED) 2,732 2,858 2,921 2,999 3,082 3,162 3,241
ZIRE (F4EER) 2,852 2,978 3,041 3,119 3,202 3,282 3,361
HE BB = (BABRS) 3,168 3,294 3,357 3,435 3,518 3,598 3,677
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